

## EN / OF THE GOOD IN THE GOOD I

Gourmet products, exclusively tailored for the professional kitchen.





Co

	2472095	Pesto Rosso
Description	Crushed tomato, garl a classic Italian pesto	ic, cashew nuts and cheese skillfully blended with oil to create
Features	48% tomato pulp; 3 It Garlic sourced in Italy	alian cheeses sourced in Italy – Parmesan, Pecorino, and Hard; ,
No Added	Preservatives, Artifici	al Colours or Flavours
ountry of Origin	Made in Italy from L	ocal and Imported ingredients
How to Use	<ul><li>Soup</li><li>Pasta</li><li>Pizza</li><li>Dips</li></ul>	<ul> <li>Marinade</li> <li>Bruschetta</li> <li>Sauce</li> <li>As a base for your own special creation</li> </ul>



	2472093	Pesto Alla Genovese		
Description		garlic, cashew nuts & parmesan cheese skilfully blended delicious classic pesto		
Feature	Contains 31% basil blend comprised of 27.9% fresh basil			
No Added	Preservatives, Artificial Colours or Flavours			
Country of Origin	Made in Italy from Local and Imported ingredients			
How to Use	• Pasta • Pizza • Fish	<ul><li>Meat and Vegetables</li><li>Dips</li><li>As a base for your own special creation</li></ul>		



## 2472094 Salsa Piccante

Description A versatile Italian sauce comprised of peppers, chilli, eggplant, mushrooms, sundried tomato and artichokes 10% fresh eggplant - sourced from Italy and Spain; 7.6% fresh artichokes - sourced Features from Spain, Italy and Egypt; Contains Italian Extra Virgin Olive Oil (EVOO); a better oil, less refined/processed with a more rounded flavour No Added Artificial Colours or Flavours Country of Origin Made in Italy from Local and Imported ingredients How to Use • Pasta • Dips • Bruschetta

- Pizza
- As a base for your own special creation



	2472091	Chilli Ble	nd Paste	
Description	Fusion of spicy chillies, vegetables, mixed herbs & spices with olive oil and a splash of lemon juice			
Feature	Contains 5.7% red hot pepper and pepper powder			
No Added	Thickeners or Gums, Artificial Colours or Flavours, Preservatives			
Country of Origin	Made in France from Imported and Local Ingredients			
How to Use	<ul> <li>Marinades</li> <li>Fish</li> <li>Dips</li> <li>Vegetables</li> </ul>	<ul> <li>Meat</li> <li>Soups</li> <li>Roasts</li> <li>Stir Fries</li> </ul>	<ul><li>Bruschetta</li><li>Pizza</li><li>Pasta</li></ul>	

## 2472090 Crushed Garlic

and September	Description	Intense full flavour	red crushed garlic with	a splash of olive oil & lemon juice	
	Feature	Made from 78% c	rushed fresh garlic		
GARLIC	No Added	Thickeners or Gum	ns, Artificial Colours or I	Flavours, Preservatives	
Alter	Country of Origin Made in France from Local and Impo		rom Local and Importe	orted ingredients	
PLAČÉ 👻	How to Use	<ul><li>Meat</li><li>Chicken</li><li>Soups</li><li>Pizza</li></ul>	<ul><li>Fish</li><li>Vegetables</li><li>Pasta</li><li>Bruschetta</li></ul>	<ul> <li>Garlic Bread</li> <li>Stir Fries</li> <li>Marinade</li> <li>Dips</li> </ul>	



	24/2092	Umami Po	aste	
Description	A sumptuous blend black olives; a savo		ne vinegar, parmesan cheese and	
Feature	Savoury flavour witho flavour of savoury foc	0	nhancers; a natural way to intensify the	
No Added	Thickeners or Gums, Artificial Colours or Flavours.			
Country of Origin	Made in France from Local and Imported ingredients			
How to Use	<ul> <li>Pasta</li> <li>Asian dishes</li> <li>Vegetables</li> <li>Paninies</li> </ul>	<ul> <li>Salads</li> <li>Soups</li> <li>Burger Sauce</li> <li>Sandwiches</li> </ul>	<ul> <li>Sauces</li> <li>Meat</li> <li>Bruschetta</li> <li>Condiment</li> </ul>	



## EN / LAURANE ALWAYS FRESH

Gourmet products, exclusively tailored for the professional kitchen.

Item Code	Item Description	APN	TUN	Layers	Cartons per Layer	Cartons per Pallet
2472090 E	En Placé Garlic Crushed 6x1.1kg	9300602367732	19300602367739	6	20	120
2472091	En Placé Chilli Blend Paste 6x1.1kg	9300602367893	19300602367890	6	20	120
2472092	En Placé Umami Paste 6x1.1kg	9300602368050	19300602368057	6	20	120
2472093 H	En Placé Pesto Alla Genovese 6x1.0kg	9300602368210	19300602368217	7	20	140
2472094	En Placé Salsa Piccante 6x980g	9300602368371	19300602368378	7	20	140
2472095 I	En Placé Pesto Rosso 6x1.0kg	9300602368531	19300602368538	7	20	140

For further information, please call Riviana Customer Service 1800 748 426

info@rivianafoodservice.com

www.rivianafoodservice.com